Tableaux des Puissances de Dix (H)

Multipliez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (H) Solutions

Multipliez le nombre de la rangée par celui de la colonne.

X 0,5 0,005 0,05 0,0005
75 37,5 0,375 3,75 0,0375
71 35,5 0,355 3,55 0,0355
89 44,5 0,445 4,45 0,0445
66 33 0,33 3,3 0,033
58 29 0,29 2,9 0,029
X 0,08 0,8 0,008 0,0008
76 6,08 60,8 0,608 0,0608
81 6,48 64,8 0,648 0,0648
72 5,76 57,6 0,576 0,0576
46 3,68 36,8 0,368 0,0368
74 5,92 59,2 0,592 0,0592
X 0,07 0,0007 0,7 0,007
77 5,39 0,0539 53,9 0,539
64 4,48 0,0448 44,8 0,448
74 5,18 0,0518 51,8 0,518
2 0,14 0,0014 1,4 0,014
61 4,27 0,0427 42,7 0,427
X 0,0005 0,005 0,5 0,05

16 0,008 0,08 38 0,8

95 0,0475 0,475 47,5 4,75

46 0,023 0,23 23 2,3

4 0,002 0,02 2 0,2

22 0,011 0,11 11 1,1
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